Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam
Rifles Examination 2024

[Exam Date 20/02/2024

Exam Time 5:00 PM - 6:00 PM

Subject Constable GD Examination 2024
Q.1
Ans f 1.
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3.

4 +and~+, 1 and 8

Q.2

Ans

o 1.




Q.3

Ans
-
1.
-
o 2.
3.
] (-
4.
Q.4

Ans 1. BAC : OTT
2. LDK : CFK
3 XYM : CDR
4. XOL : UPL




Q.5

Ans
1.
2.
o 3.
4.
Q.6
Ans 1. Smash
« 2. Smart
3. Small
4. Smack
Q.7
Ans 1. 42
2. 44
3. 46

V4 48




Q.8

Ans 1 Geeta

2. Pooja

3. Charu
4. Hema

Q.9

Ans 1. NOP

2. HVA

« 3. SFC

4. SHM
Q.10
Ans

2.

) R

Q.11 A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

MQ., SO, QU, WS, ?
Ans 1.

2

2. XT
v3 UY
4. MH




Q.12

Ans 1

Q13 In a certain code language, ‘BEHALF’ is coded as ‘DCTYND’. What is the code for “CLINIC” in that code language?
Ans 1. EJKLKA

2. EJILLA

. EIKIL KB

4 EJKIIB

Q.14

Ans 1. 78

4 T4

Q.15

Ans 1. 5and 3
2. 5and 2

3. 1and3

4 2and0




Q.16

Ans

- Sister

Daughter
Wife

- Mother

Q17

Ans

- 690

680

- 675

700

Q.18

Ans

1. QTS

&3

RUS
RTS




Q.19

B
EE
G

Ans 1. Mohit
2. Tamm
3. Rahul

4. Sunil

Section : Part-B-General Knowledge and General awareness

Q1

Ans 1. Kalsi
2

3. Maski

4. Girnar




Q.2

Ans 1.
o 2.
3.
4.
Q.3
Ans 1
2.
3.
o 4.
Q.4
Ans 11959
2. 1999
+ 3. 1949
4. 1967
Q.5 In June 2023, who has been awarded the Spinoza Prize, which is also sometimes referred to as the ‘Dutch Nobel Prize’?
Ans 1.
2.
3.
4.
Q6 Which of the parts of the Indian Constitution deals with the Directive Principles of State Policy?
Ans 1. Part II
« 2. Part IV
3. Part I
4. Part III
Q7 Inany tennis game, if both players win three points each in a game (i.e. score is 40-40), then it's called a
Ans 1. equal
« 2. deuce
3. back
4. rattle
Q.8
Ans

« 1. 2007 - 2012
2. 2009 -2014

4. 2010 - 2015




Q.9

Ans 1. Been
2. Sarod
3. Sarangi
« 4 Sitar
Q.10
Ans 1. Islam
+ 2. Hinduism
3. Jainism
4,
Q11 The "Hornbill Festival" features which indigenous tribes showcasing their culture and traditions?
Ans 1. Gond
2. Garo
« 3. Naga
4. Bhil
Q.12
Ans 1.
2,
3
4,
Q.13
Ans 1. Kerala
« 2. Tharkhand
3.
4. Tamil Nadu
Q14 The Green Revolution started in the year 1965 and the five year plan was between 1961-1966.
Ans 1. 3th
2. 2nd
3. Ist
+ 4 3rd
Q15 The Jallianwala Bagh massacre, took place in consequence to the protest against the
Ans

1,
+ 2. Rowlatt Act
3.

4.




Q.16

Ans 1. Thailand
« 2. Japan
3. China
4. Qatar

Q.17

Ans 1. Kabaddi

+ 2. Hockey
3. Cricket
4. Rugby
Q.18
Ans 1
2. Assam
+ 3. Sikkim
4 Goa
Q.19
Ans 1.
2
3.
4,
Q.20

Ans 1. Speaker of the House of the People

& 4.

Section : Part-C-Elementary Mathematics

Q.1

Ans 1. 135 days
2. 120 days

3. 100 days

« 4. 87.5 days




Q.2

Ans 1. 24 vears, 40 years, 56 years
2. 18 years, 30 years, 42 years
« 3. 21 years, 35 vears, 49 years
4. 27 years, 45 vears, 63 years
@3 The radius of a sphere is 3.5 cm. What is the total surface area of the sphere?
A1 176 em?
2 128 cm”
3 196 cm?
¥4 154 cm?
Q.4
Ans 1. —127
2. —119
3. —121
4 —122
Q.5 A bus left 60 minutes later than the scheduled time but in order to reach its destination 300 km away in time, it had to
increase its usual speed by 10 kmv/'hr. What is the usual speed of the bus?
Ans 1. 50 km/hr
2. 60 km/'hr
3. 40 km/hr
4. 30 km/hr
Q.6
Ans 1. 25 days
2. 24 days
3. 18 days
« 4 27 days
Q7 Marked price of an article is Rs. 11800 and its selling price is Rs. 7788. What is the discount percentage?
Ans

1.
« 2. 34 percent
3.

4.




Q.8

Ans

If the price of a dress is reduced from Rs. 800 to Rs. 720, what is the percentage decrease?
1. 6%
2. 9%
3. 8%

v 4 10%

Q.9

Ans

1. 132.28
2. 131.72
+ 3. 130.69
4. 130.88

Q.10

Ans

1 Rs. 300
2. Rs. 250
3. Rs. 320
v 4 Rs. 200

Q.1

Ans

Q.12

Ans

Prithvi has pears and peaches in the ratio of 10:13. Celine has pears and peaches in the ratio of 7:9. Vikram has pears
and peaches in the ratio of 5:7. Who has a greater ratio of pears to peaches?

1. Vikram
2. Prithvi
3. All are equal

w4 Celine

Q.13

Ans

v 1 41.5kg
2. 39.5kg
3. 43 kg
4. 42 kg




Q.14

A man buys 35 mangoes for a rupee. How many mangoes had he sold for a rupee so that there is a loss of 30 percent?

Ans 1. 33
2. 45
3. 27
4 50
Q.15
Ans 1. Rs. 25600
2. Rs. 27800
3. Rs. 24400
4. Rs. 29900
Q.16
Ans 1. 626
2. 624
3 0618
4. 628
Q.17
Ans 1. 20 percent
2.
« 3. 10 percent
4. 15 percent
Q.18
Ans 1. 4
2 3
3.2
4. 1
Q19 A certain sum becomes 7 times of itself in 10 years at a rate of simple interest. In 20 years it will become how many
times of itself at the same rate of simple interest?
Ans 1. 14
2,10
3. 12

4 13




Q.20 vikram scored 32 percent marks in an exam and failed by 15 marks. If he scores 57 percent marks, then

he gets 10 marks more than passing marks. What should be the passing marks for the exam?

Ans 1. 57

2.52
3. 49
4 47
Section : Part-D-English
Q.1
Ans 1.
2.
o 3.
4.
Q.2
Ans 1.
o 2.
3. On the fence
4.
Q.3
Ans

1. No improvement
2

3.

4. been gets

Q4 Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.

Consumers sometimes has a good ability to identify counterfeit logos when the legitimate brand is well-recognized.

Ans 1.

2. No error
¥ 3.

4.




Q.5

Ans

1. dim
2. faint
3. mute
+ 4 muffled

Q.6

Ans

2. Potency

3. Virtue
4. Effect

Q7

Ans

1. defer
+ 2. admit
3. buy
4. get

Q.8

Ans

« 1. have
2. does

3. needs

4. has

Q.9

Ans

Find the part of the given sentence that has an error in it. If there is no error, choose *No error’.

I am not the most wisest person here to teach you this lesson.
vl

2.

3. No error
4.




Q.10

Ans 1. obstruct
2

3. unanimous

4. peclude
Q.11
Ans 1. Scantily
2. Scarcely
+ 3. Fabulously
4. Nominally
Q.12
Ans 1.
2. incision
« 3. conclusion
4. finale
Q.13
Ans 1
2. No error
3.
4
Q.14
Ans 1. No error
2.
3.




Q.15

Ans

Select the sentence with no spelling errors.

1. We were disillusioned when we saw how the movie star acted in reale life.

2. We were disillusioned when we saw how the mouvie star acted in real life.
+ 3. We were disillusioned when we saw how the movie star acted in real life.

4. We were disilusioned when we saw how the movie star acted in real life.

Q.16

Ans

Comprehension:

SubQuestion No : 16

1. mitigated
2. produced

« 3. issued
4.

Q.17

Ans

Comprehension:

SubQuestion No : 17

+ 1. conditions
2. phases

3.

4.




Comprehension:

SubQuestion No : 18

Q.18
Ans I, High
2. Highly
3. Highest
« 4. higher

Comprehension:

SubQuestion No : 19
Q.19

Ans 1. at

2. in
3. over
4. 00

Comprehension:

SubQuestion No : 20
Q.20

Ans 1. asking
2. said
3. tell
« 4 told

Section : Part-D-Hindi




Q1

Ans

AT T &, 9% Reedt F ¥, 39 BeFew & 999 #T A & 75 ARFa F1 FqEr 37 arer
e ¢
HYAT FIAT IR 3T

1. ORI afFqar # &A 0T T ST AT ATAT ST 3
2 TeTea # ofda g #

v o AT F IS FAT & AN & Bl Howdr §
4. STET T T F AT & AR @

Q.2

Ans

3T 71U a1y © 9 T1dd 9ol 31d iforg|

Wi yrgal & o9 Tfg & e sog sl w8l
gt
2. ‘J_|'|€Eh’

W 3. Hj:qﬁ-‘[
+ BTG

Q.3

Ans

ST 7T g1y o Xifahd 2eg o1 faa e 1 HIfog |
W SREH! § a9 UL AT ¢ |

1. e
2 PR
3, W
v JgHiee!

Q.4

Ans

fau 7 gretwr & g wrefe wee 31d Sifom|
ol T3 & eFHd 8l
v R

> FEwrEd

3. @,ﬁﬂ

4 I

Q.5

Ans

Fafafad Uy &, IR fGeedl § 9, 39 a5 &1 9949 &2 ofl HIFS | 16U U Ueg & I0H ¥4 &I T8 [dPhed ¢ |
AU S @ UM & U Hel T g

1.3
2. 3HA
3 b

o 4 3




Q.6

Ans

[&T TU ATy  Ywifdd 2eal & 1T el Risal ard el ol 99 &1 |
5T WG T & g e 2

. gl G T B g fArea gl

2. U5 G g¥ &I 7T e g

3 gRacH &1 HTaaHdl el ¢l
v« Tgi g &1 Yk gY FAear 2|

Q.7

Ans

feu e faeeul ¥ 4 F fddhey Ffegad 8, Tald Uh Hel o | 39 Yol [dded ol 94 $1|
v 1. B gAY faaR &I firgm)

2 T gAY AGaR & &1 ol freg|

5. H gAY faar 7 e

4 H qHY fFaR & i fereg)

Q.8

Ans

T v I # 3T A e w1 TEs w1 e e @ 9| w1

Hrar AT & JATH #r 2

Q.9

Ans

U 7T ar T YWifdhd Usg o1 faaIH Xse 1d HIfoT|

UiEH YR 1YHS A ¥ HI g |
. Y




Q.10

Ans

fGU 70 a19g H ¥@ifdd Wse o [0 Hal gaAl J1d i |
EEREFCINEIEL

4 9y

Q.11

Ans

Tt wed &, 91 eur & ¥, 30 Tel [9&eT F7 I8 L FT I F o T U #71 &GaeT

1
TSt 3 g # gam @

gma—ﬁﬁﬁﬂ-
2. ddATd
3. ST
4. ol

Q.12

Ans

T @T oo &, 91X Toedl # @, 37 TFeT &1 =97 F{ J7 Freas H BT 70 2reg F 959 §F 7
Ter e g1
frer &1 gram & oo (Tfege) gl =1iRT, RaREe SiheER g« Tigel

* 99

Q.13

Ans

frafofa we #, a1 Reedt # 7, 38 Reew # 997 ¢ 3 {u 710 geray & 7 7 Jren e
gl

ToaAT Y STl

1. e g

ZQﬁ-T;FgﬁFIT

3 FST H R ST FeT
v 4 efes-faEae HT &

Q.14

Ans

[&T 1Y a1 1 a8 | 1A &<, o 15 3f¢ 81 3l &g Afc el 8, dl '®Ig Fic el &' I |
U8 HH IR 3cHl BT 81 59 fde 7 B |
v GR H1eH Pl

2 8139 3fhd Hd |

» Pl I Tel o

4. g hH




O Prrafafla wea &, 97 fesdt # ¥, 50 Besy &7 937 1 3 Frves F Ry 71T g F wHgar
oTeg, F WY fareT B
TS F G HEEA W (F) ;A&
Ans 1';\#
2 R
3_-§W

Comprehension:

- o T TR H % ek 315 6 T §, TS oiwia & U 9R [deed QU T § | 59 TER &I eFYdd
U¢ 2R IR fddhedl # U 9afaa IR arel [dheq |

A BT H IfE TOR & fodl ¥ S | BI3 "o ufed 81 @ 3Ud o1l fa gaR U I%as! Gar AT STl
g1 UU R QAR Ul G RUIE_ gidi gl Ao o G H [T G aR U b oilgd & B ol
HH] B39 g1 U8 al Ugdll 3R a0 9 g, o Wl g Yag Iy Usd oW ¢ | 98 oH WX fay H g <&l

_ S ERHUFSRI GHR a0 S H 98 W H gHRI UGS Bdl ¢ | AR U Al eias,
YIS HEl, SUSHIRT, T, AP GHER, a3, e, gargdi, sftmdis, 4, @ier], de-iel o &1
SR g <dl &1 98 8HR I9 SINd R de-id!l &l aeH # i gAR Ugdal aXal ¢l Ugd & 9Hg H,
YHR UAT H dae] @arl b1 a0 YebIiRid gidr o1l gleiifds, sfd g9+ dgd d fawal & aR # @i 3R faivgl &
faram agt o fob, T+ T fawal 1 e Hi [Fied gicll 81 950 3 SAMER UAl 31 BIAd SoiR § 3!
GRS 3R 3G & H UG & RO S{eHI-2Ae Bl ¢ | GHER UF I1 28R H & siigd o1 9+
qAAM YeAIe Fgiid 39 9 Bl ¢l

SubQuestion No : 16

Y b gRRE S ERUE  Eidigl
as o g

2

3. famd

a. W




Comprehension:

- U T TR H 359 Wes 315 6 T €, TS Siwie & UeH 9R [aded [GU U § | 539 TR &I AHYdd
U¢ SR IR [ddhedl ¥ § Jaiqd 3w ardl [dded g1

TqqH B | gfc TUR & fedl ¥t &F F &5 ot ged gfed 81 a1 3 3T a7 gHR Ty IS e 31 S
IR TARR UA G SRS EBdicl AN s G H ST TR A s oilad & Hen
S| B3 81 U8 gl Ugdll 3R A1 a&d 8, f5 9l 8% Yag 9ol Ugd ¢&d ¢ | 98 g R Ay H gl @l

_ FERH TEPRI 4@ aaH 90T U T 1@ # SARI HeE Sl ¢ | TAER UF AIRE], A,
YIS Hel, USRI, G, AP FHER, faq, e, gargd, sf¥dref, A, digRi, deb-id fe Bt
TFHR g1 31 21 98 gUR I SN iR ahdT dr e B off R el SedT 21 Ued & 9
THER YAt H o Geri 37 faav01 UebIId SidT 471 gefifdy, 31a S9H g U favai & aR # we 3R fagvsi &
foaR gel d fds, @mrT aut [qwal &1 sHeR! 1t [Figd 8l 81 950 4 YHER Wl &1 $11d SR § 376!
GRIE R 3Y &7 1 ufifE & SR -1 gidl & | YHHR A 17 3REeR H ofFd oiiad &I 92t
g HeATe Faffd 30 ¥ 0

SubQuestion No : 17
o & g 4 GHER U3 & oiad & BT W BB Bid Bl
A G|
> TR
3. W
v 4 B

Comprehension:

- U T TR H 359 Wes 315 6 Y €, TS Siwia & UeH 9R [Aded QU U § | 53 TR &I AHuds
U¢ 3R IR [dded! H U Jaiqd 3 aral [dde] g1

gIaH B H afe TOR & fedl Yt H H 15 I ger ufed gl a1l 39 3Tl {3 gAR Ty 39! e 31 9!
ST R AR A F BRG] Bldigl AW T A S THRR GA d wilgd & AT i
aﬂuﬁav‘i%?l%mgaﬁaﬁﬂ@mﬂqwm ¥ 2, o |l gX goie 9 ugd qaq%‘mﬁﬁ@ﬁ%ﬁé@

& TR H WMHRI Sh A AT 9 9S 10+ H gART H&G Hdl ¢ | AR U3 TR, I,
WﬁW%WWWﬁﬁmﬂmﬁﬁﬁmaﬁﬁmﬁ
SFGRI 8 a1 8| 78 SHR TH BINe SR de1@! &1 ggM ¥ i gHR Yo HXd1 81 Ued & 9
THER YAt H o Geri 37 faavu1 UebIRId SidT 471 gefifdy, 31a S9H g U favai & 9 # wey 3R fagvsi &
foram aet ae fobs, T Tl fawal &1 SaRT Hi (Hfed Bl 81 950 T FAMER U= &1 SiAd SoiR § 3!
Rl b 3R 3G & H Uil & RN fe1-2AeRT gidl ¢ | THER U 91 3Rg8R H o oiia @i g+l
qAH YT Fafid ¥U 3§ Sy gl

SubQuestion No : 18

O g Ry Ae b IR H THSR] SR aaHM THT T SjS W@+ H gHRI Aeg Bl g
Ans 1. maﬁ

2. Fhegradi

3. @?ﬁ

4, a:ﬁg]ﬁ




Comprehension:

- U T TR H 359 Wes 315 6 T €, TS Siwia & UeH OR [Aded AU U § | 539 T &I AHudd
U¢ SR IR el o § Jaiqd 3 ardl [dded g1

TqqH B | gfc TUR & fedl ¥t &F F &5 ot ged gfed 81 a1 3 3T a7 gHR Ty IS e 31 S
SRS TARR U G HRUE | Bdiel AN s GO H ST IR A s oilad & Hen
HIP] B3 ¢ U a ggdl 3R I avg ¢, forg Wil g Yae 99 Ugd ¢ud ¢ dg el R fay A g1 el

_ FERH TEPRI 4@ aaH 90T U T 1@ # SARI HeE Sl ¢ | TAER UF AIRE], A,
YIS Hel, USRI, G, AP FHER, fag, e, gargd, si¥dred, #el, digRi, db-i! 3fe Bt
TSR g8 31 21 98 R I SN SR abaT S aer o off R el SRdT 21 Ued & 9
TR T & Haa G131 R TR g 4| graifs, o 39 9gd @ vl & AR 7 gt AR el
foaR Tgl d fdb, AT O [qwal &1 SHeRT 4t Figd 8l 81 95a 4 YHER Wil &1 $1Hd SR H 36!
GRI P R 3IY &7 1 ufllg & HRUT HE-HT eidl ¢ | THER U I1 3RIIR H & oila ol g3t
g HeATe Faffd 30 ¥ 0

SubQuestion No : 19

P 78 gER IH, BRI AR dHH! &I S H + AR Gl SRl 6 |

Ans 1) ]:ﬁrT[
2. d[d
5. e
v 4 GIREGhdl

Comprehension:

il U TR TR H % WG B1s G U ¢, Udid SFwda o - R [adhed [GU U € | 5 Teil &l ey
U¢ 3R IR [ddhedl H U Jaiqd 3 ardl [dde] g1

JaHH P1d H gfe GUR & bt vt &F & @15 o ger ufed 8 dl 3% 3Tt {9 AN U S9! W 3 7l
¢l Uy G GURR GAl & HRUIE] _ Bldlicl Aol G U S qUER GA b oilgd &l Her ol
HIP] B3 ¢ U a ggdl 3R I avg ¢, forg Wil g Yae 99 Ugd ¢ud ¢ dg el R fay A g1 el

_ FERH TEPRI 4@ aaH 90 U T9 3@ # GARI HeE Sl ¢ | THER U9 AIRE], i,
QIS T, SRISTIRI, T, SRS GAMER, &7, e, <arsal, e, 7, TR, deb-iie! offe H
THGRT B8 AT 2| U8 gUR IF SIRIE AR aba PragH ¥ off gR) Ted a1 31 Ued & 9
THER YAt H o Geri 37 faav01 UebIId SidT 471 gefifdy, 31a S9H g U favai & aR # we 3R fagvsi &
foaR Tel d fds, AT Ot [qwal &1 SHeRT 4t Figd 8l 81 95a 4 YHER Wl &1 $1Hd SoiR H 36!
WRIP 3R 3T &7 H Uil & HRUT 3TH1-3H gidl ¢ THER U= 9T 3RGaR H &4 oiia ol g+l
gaq geqe fHafid 3U ¥ sudi 8

SubQuestion No : 20

2 ggd T GHER UAl B HIHd IOIR F 38! @R B 3R 39 & 1 S & HROT -3 el 8
Ans 1 ﬁ?ﬂf






